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WEEBEMBZRERA TR 31(a) 9,445 64,573
EENEUES! (3,944) (5,102)
BB 580 613
BMEREZFEI D (240) (279)
BRENFEHALCEEHRESMAFE 5,841 59,805
B ATIS R (10,859) (8,996)
KEEB2BE Rt RAFRE (5,018) 50,809
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HEBEEEMSRE 493 1,478
LT ENRER - (25,000)
WEEM R E 2R - 40,187
BEREZHS — (46,729)
EmEEZERERA 2 5
BEEREEEE (29,492) (51,662)
HEREMSREA 14,018 —
A A B A A A% AE 2 15 0 (2,638) —
BEEBAMERIEFE 1,500 1,577
KEEHHRES R FE (16,117) (80,144)
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BARITER 17,500 28,000
EERITER (24,344) (28,051)
TNMERE BRI (5,080) (2,760)
B BIE TR 24 0 (373) (865)
MEEHRES R FE (12,297) (3,676)
ReERRESEEBYW 2R FHE (33,432) (33,011)
REUNA—BHZBRERESEEY 78,793 111,804
R=ZA=Z+—Bz2HERkREEEY 32 45,361 78,793




